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“This algarﬂfm Can be. done in one clock pu/se.




stowting valus E‘o o} 8 G 4 2 |10

TP 3 84 A sort of FiFo buffer de%ianed by
Hwo people ad at each oifec or oy 4 Thizeid,
(E ALB,C,DL,E are reqisters (n-bits wide ,wheue

h s ldvge, eniF 1o verd overHow in this ?mblems,
And ab,eydie are 4 bt -?-\ags.“ﬂ»e micno-opmdjrians
Co‘Y\’}‘ro[hﬂg this buﬂ:e\r‘ are ( note i wo '\"\W\'\Y\f@

1t T<+—X+4
d+blve’s A<—X  a<—1
Prc't B+— A b<e—1
be't C+—R c<—L
cd's D4—C ,3\4-—-1 ,C4+—0
de/ i E¥—D,e+—1 ds—0
[ +
TP3  dw 3%35&85
aivav\ +He /.A-—operajri(:ns above. and He
stactin Cﬁv\{-t:vﬁs below continve :F\'“ing ih ‘l’ﬁe_

Hable Wikl all registers bur X have shpped
; Q«W%{V\S

X, A B . C D E 3

o p

[

é dvau) a

clecte.

o' B R A S

75 <
TP4  dun 2=z 85

using RS - Rip-Fops for e flacs a,be,dyand e
Céd@ didgram 3caf this ctwwié‘.s (e tRe. ?
Covitvol Lo%ic. He erecntes Hese u~op's )




Clock

vPyT |

ouT4d

ouT 2,

28t
T’PQ{5 dur 21-Feb 5 dda.5 Civewits

5”

— e

-
ad ——
§‘_—‘~— — — —
—]—
- —
—-— i
<]/,_

Desigh oo cireuits one which fakes
e Fiven ?v\?u:\‘ and, ?mdwc ooTL. The & otfL
takes o given inpud™ aud producas OUT 2.

'Tﬁem ave,\ o][\‘ ourde, mdn wdds 1o 0/0 ‘I%fs

land what is anted is a Simple solution. The

simplest Solution is not, requiredy But the nae farthon
- he.
goue result is from, Simplest- esudd |t Fartfun
yowr %\&Ae_ will oo from ’Pfre_)c:c:f‘. Your  elrcud
showlel” ol contanin "hagamls” , '
pacth, " The Biwmplest Clranid which Srom. npud™
Pproducas  OUTA

@\"\_B The 3(\4«.?\6&1‘ civeant  whicla Aovn Cn?u:t‘
’ono\u-u.s T2

partC  Again Ha civat Which from inpit produss
ourd.  put this +Hme i must  nelude

Lw P“j_ ou:l"F ud"

ol o |

S
R




B 6 Oct
TP R Due  6—Per 1925

I \»xl\eae.r M itplica e Um{,-;.
TEY e B-wit requshns. T ¢ PP ave 1 -bit ‘/&3(3&"5
Z s a D :5:\\\*; §~\o~\>, P s a l-lbt ;Haa. (P=1 weans
Xis @ ?o%«l\we G-l Avmber )_?20 medns X 1S in Z‘QOV"‘P“"“‘“@
C (Cnbc'\e Counttn) 15 3 RS S—levf-{oPS which. Wk
followed by a 3x8 decodec Products e eontvols

Co >C 5Ly i f(ecy el en g‘lm\’ia\'\dﬁ' S\'a‘f'}.\“'i w/%@ol
ot LeMe
¢, wnot used sl pavt C

ORG

CZ H PP S O‘
< She Ql ((\e Y;*HO)EQ_-QQB)
codz § (Pz 1) then(T-0)~X and TOS- g)«=0 ),
—pu,(ﬁa .
| i (2= 0)then (T(7-0)&=F and Tge Ty 0nd T Ly
I T Ky and o TyeXy ) )
L3

it ( (2= Hon PP & PP2T
<o O she W ( heo sz(‘"%)
N T (TTe=0)
b Y20 Hew %
C{- 5 ?\D'.\"t'\\wc’

A, 50’??&‘“—’6 Z yatvns — 12 ('Z.—C.l)"m,?}) t\) conkdims g E\V\c\ =2
stow Mo Comdents of aiich Vegisder Dnd each flagq i binav
afrer each  clich purlse kil "\h& sop c,\»\avx%‘\ws. NOTE® =

B, Vv g b\ack,dkacgaw\. show all cowtvol times.

. C‘ T!\,s zm(( y\(j'%' DGk \JQ \) 15 @ V\eaa‘h\)(’, Puwdoy v 2's COIMPIL’MQZ]L

bur if Y<0 we ¢an ‘.‘Au\.(’\:\"\ﬂi b E‘{: LR hﬁ 4. Wk
Sowem Yhis in ?eﬂ Teoms Lanﬁ u.smi e, -



23 Octl

TP 3 Sfhede Shde Ride  due-28FebB8S

Tn Chd we have seen several uses fov a
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